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1. (c) F O

H AQ B O

–2 –4–3 +3

E

A

+3

E L D

G
+3

G TE L A O

E PH I D R

–2 +3 –3 +3 –4 +3

Similarly

H E

F PH X U

–2 –4–3 +3

T
+3

A R Y

B
+3

2. (d) (24, 3, 10)
 [3 × (10 – 2)]
 3 × 8 = 24  (First term)

(144, 9, 18)
 [9 × (18 – 2)]
 [9 × 16] = 144 (First term)

Similarly
(133, 7, 21)

 [7 × (21 – 2)]

 7 × 19  = 133 (First term)

3. (a) P CL A E

C HO N A
3 1415 8 1

+2 –2
+3 +3 –2

S CH O K

Q NK Q A
17 1711 14 1

+2 –2+3 +3 –2

Similarly

F WR O N

Q QU D U
17 421 17 21

+2 –2
+3 +3 –2

4. (b)

5. (a) ROSE

(18 + 15 + 19 + 5) 57 × 4

(Total number of alphabet)=
228
TULIP
(20 + 21 + 12 + 9 + 16)
78 = 78 × 5 (Total number
of alphabet) = 390
Similarly,
LOTUS
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(12 + 15 + 20 + 21 + 19) 
87 × 5 (Total number of al-

phabet)= 435

6. (a)
7. (d) (8, 388, 18)

 [(8)2 + (18)2  ] = 388
(11, 137, 4)
[(11)2 + (4)2] = 137
Similarly,
[14, 221, 5]

[(14)2 + (5)2] = 221

8. (b) H   L   O   P

+4 +3 +1

F   H   J   L

+2 +2 +2
(Odd)

A   E   H   I

+4 +3 +1

Q   U   X   Y

+4 +3 +1

9. (c) As,

C H H A P A K D J K E U G R

+1

+2

+3

+4

+5

+6

+7

Similarly,

M A L A N G A N C O E S M H

+1

+2

+3

+4

+5

+6

+7

10. (a) 1, 6, 4, 5, 2, 3

11. (c)

49 54 44 59  64 3439

–5 –5 –5

+5 +5

12. (b)
13. (b) 3 – 21 + 153 × 17 ÷ 26

ATQ,
 3 × 21 –153 ÷ 17 + 26
 63 – 9 + 26  = 80

14. (b) (7, 5, 10)
 ((7 – 5) × 5) = 10 (Last term)

(2, 1, 5)
 (2 – 1) × 5 = 5 (Last term)

Similarly,
 [(16 – 6 )× 5]
 10 × 5

 50 (Last term)
15. (b)
16. (a) 6, 1, 3, 4, 5,2
17. (b)
18. (c) (5, 19, 4)

 [(5 × 3) + 4]
 19 (Middle terms)

(1,7,4)
 [(1 × 3) + 4]
 7 (Middle terms)

Similarly
 (6, x, 1)
 [(6 × 3) + 1]
 19 (Middle terms)

19. (b)
Fruits

Wines Alcohols

All conclusions follows
20. (b)
21. (c) Case I

6 – 5 × 9 + 8 ÷ 2
ATQ,
9 + 5 × 6  – 8 ÷ 2
9 + 30 – 4 = 35
Case II
ATQ,
6 – 4 + 9 × 5 ÷ 3
9 + 4 – 10 = 3

22. (c) N T S

J

F

B

X

Z

F

L

R

F

S

F

S

–4

–4

–4

–4

+6

+6

+6

+6

+13

+13

+13

+13

23. (c)
Bikes

Cars Cycles

only canclusions (i) and (ii)
follow.
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24. (d) 81 : 19
 [(19 – 1) ÷ 2]2 = 81

121 : 23
 [(23 – 1) ÷ 2]2  = 121

1 : 3
 [(3 – 1) ÷ 2]2 = 1

64 : 9 (odd)
 [(9 – 1) ÷ 2]2 = 16

25. (a) DYTGMIL / DYTGMIL /
DYTGMIL / DYTGMIL

B-GENERAL AWARENESS
26. (b) The most abundant element

in the Earth's crust is oxy-
gen (46.1 per cent). The
chemical formula of oxygen
is O

2
, which is also called

dioxygen. / i`Foh dh Hkw&iiZVh esa
lcls çpqj rRo vkWDlhtu (46-1
çfr'kr) gSA vkWDlhtu dk jklk;fud
lw=k O

2
, gS ftls MkbvkWDlhtu Hkh dgk

tkrk gSA
27. (d) One of the most important

festivals celebrated in the
Lahaul region of Himachal
Pradesh is the Halda Festi-
val, a large carnival
organised to welcome the

New Year. / fgekpy çns'k ds
ykgkSy {ks=k esa euk, tkus okys lcls
egRoiw.kZ R;ksgkjksa esa ls ,d gynk egksRlo
gS] tks u, lky ds Lokxr ds fy,
vk;ksftr ,d cM+k dkfuZoy gS

28. (c) In 1946, Mahatma Gandhi
visited Noakhali and other
riot-affected areas to pre-
vent communal violence.
The riots in Noakhali took
place against the backdrop
of unrest caused by the Mus-
lim League's demand for

partition./1946 esa] egkRek xka/h
us lkaçnkf;d fgalk dks jksdus ds fy,
uksvk•kyh vkSj vU; naxk çHkkfor {ks=kksa
dk nkSjk fd;kA uksvk•yh esa naxs eqfLye
yhx }kjk foHkktu dh ekax ds dkj.k
v'kkafr dh i`"BHkwfe esa gq, FksA

29. (a) John Marshall was the first
scholar who used the term
'Indus Civilization' for the
Harappan Civilization. The
period of this civilization
was 2500 BC - 1750 BC. /

tkWu ek'kZy igys fo}ku Fks ftUgksaus
gM+Iik lH;rk ds fy, ^flaèkq lH;rk*
'kCn dk mi;ksx fd;k FkkA bl lH;rk
dk vof/dky 2500 bZlk iwoZ & 1750

bZlk iwoZ FkkA
30. (b) Muhammad bin Tughlaq

was the Sultan of Delhi
from 1325 to 1351.
He is known for his am-
bitious projects and ex-
periments, some of which
were ahead of their time.
One of his most notable
initiatives was the intro-
duction of token cur-
rency, where he issued
copper coins to replace
silver coins, aimed at
overcoming the shortage

of precious metals / eqgEen
fcu rqxyd 1325 ls 1351 rd
fnYyh dk lqYrku FkkA
og viuh egRokdka{kh ifj;kstukvksa
vkSj ç;ksxksa ds fy, tkuk tkrk gS]
ftuesa ls dqN vius le; ls vkxs
FksA
mudh lcls mYys•uh; igyksa esa ls
,d Vksdu eqæk dh 'kq#vkr Fkh]
tgk¡ mUgksaus pkanh ds flDdksa dks
cnyus ds fy, rkacs ds flDds tkjh
fd,] ftldk mís'; dherh /krqvksa
dh deh dks nwj djuk Fkk

31. (d) She was the first Indian
woman president of the
Indian National Con-
gress. She became the
president of the Indian
National Congress in the
Kanpur session in 1925.
She was given the title of
"Nightingale of India" for
her contribution in the

field of poetry writing. / og
Hkkjrh; jk"Vªh; dkaxzsl dh igyh
Hkkjrh; efgyk vè;{k FkhaA og 1925
esa dkuiqj vf/os'ku esa Hkkjrh; jk"Vªh;
dkaxzsl dh vè;{k cuhaA mUgsa dfork
ys•u ds {ks=k esa muds ;ksxnku ds
fy, ^ukbfVaxsy vkWiQ bafM;k* dk
f•rkc fn;k x;k FkkA

32. (c) The equinox is the time
when the Sun crosses the
Earth's equator, making
day and night of roughly
equal duration across the
planet. There are two
equinoxes each year: the
spring equinox (around
March 21) and the autum-
nal equinox (around Sep-

tember 23). / fo"kqo og le;

gS tc lw;Z ìFoh dh Hkweè; js•k dks ikj
djrk gS] ftlls iwjs xzg ij fnu vkSj
jkr yxHkx cjkcj vof/ ds gks tkrs gSaA
çR;sd o"kZ nks fo"kqo gksrs gSa% olar fo"kqo
( 21 ekpZ ds vklikl) vkSj 'kjn
fo"kqo ( 23 flrEcj ds vklikl)

33. (b) Magnetite - This is the
best quality of iron ore con-
taining 70% or more of
iron. It is magnetic in na-
ture which makes it a good
conductor and highly valu-
able in the electrical in-
dustry.
Hematite - The second
grade of iron ore has an
iron content of 50 - 60%
and is a very important
source of industrial iron. /

eSXusVkbV & ;g ykSg v;Ld dh lcls
vPNh xq.koÙkk gS ftlesa 70» ;k mlls
vf/d ykSg rRo gksrk gSA ;g çÑfr
esa pqacdh; gS tks bls ,d vPNk
lqpkyd vkSj fo|qr m|ksx esa bls
vR;f/d ewY;oku cukrk gSA
gsesVkbV & ykSg v;Ld ds nwljs xzsM
esa 50 & 60» dh ykSg lkexzh gksrh gS
vkSj ;g vkS|ksfxd yksgs dk ,d cgqr
gh egRoiw.kZ lzksr gSA

34. (a) The Sixth Schedule areas are
one such exempted area.
These areas are located in
the north-eastern states of
India and include the tribal
areas of Assam, Meghalaya,
Tripura and Mizoram.
The Sixth Schedule of the
Indian Constitution pro-
vides for the administra-
tion of tribal areas in these
states through Autono-
mous District Councils
(ADCs) which have the
power to legislate on cer-
tain specified subjects. /

NBh vuqlwph {ks=k ,sls gh ,d NwV
çkIr {ks=k gSaA ;s {ks=k Hkkjr ds mÙkj&iwohZ
jkT;ksa esa fLFkr gSa vkSj blesa vle]
es?kky;] f=kiqjk vkSj fetksje ds
vkfnoklh {ks=k 'kkfey gSaA
Hkkjrh; lafo/ku dh NBh vuqlwph bu
jkT;ksa esa vkfnoklh {ks=kksa ds ç'kklu ds
fy, Lok;Ùk ftyk ifj"knksa (ADC) ds
ekè;e ls çko/ku djrh gS] ftuds
ikl dqN fufnZ"V fo"k;ksa ij dkuwu
cukus dh 'kfDr gSA
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35. (b)

36. (b) Pradhan Mantri Fasal
Bima Yojana was launched
in the year 2016. Pradhan
Mantri Fasal Bima Yojana
(PMFBY) was launched on
18 February 2016. It is an
insurance service for
farmers for their crops. /

ç/kuea=kh iQly chek ;kstuk o"kZ 2016
esa 'kq: dh xbZ FkhA ç/kuea=kh iQly
chek ;kstuk (PMFBY) 18 iQjojh
2016 dks 'kq: dh xbZ FkhA ;g fdlkuksa
ds fy, mudh iQly ds fy, ,d
chek lsok gSaA

37. (a) Absolute pressure is the

pressure measured with
respect to absolute
vacuum (zero pressure). It
is the sum of gauge pres-
sure and atmospheric pres-

sure. / fujis{k ncko og ncko gS
ftls fujis{k fuokZr ('kwU; ncko) ds
laca/ esa ekik tkrk gSA ;g xst ncko
vkSj ok;qeaMyh; ncko dk ;ksx gSA

38. (d) An electrical fuse is a
safety device used to limit
the current in an electri-
cal circuit by melting and
breaking the circuit if
there is excess current
flowing through the circuit.

/ fo|qr Ý;wt ,d lqj{kk midj.k gS
ftldk mi;ksx fo|qr ifjiFk esa /kjk
dks lhfer djus ds fy, fd;k tkrk
gS tks lfdZV ds ekè;e ls /kjk dk
vfrfjDr çokg gksus ij lfdZV dks
fi?kyk nsrk gS vkSj rksM+ nsrk gSA

39. (c) The bacteria used for fer-

mentation produce lactic
acid which acts on the
milk proteins giving yogurt
its texture and distinctive
sour taste. Lactic acid is
responsible for the sour
taste and consistency of

yogurt. / fd.ou ds fy, bLrseky
fd, tkus okys cSDVhfj;k ySfDVd ,flM
dk mRiknu djrs gSa tks nw/ ds çksVhu
ij dke djrk gS ftlls ngh dks
mldh cukoV vkSj fof'k"V •êðk Lokn
feyrk gSA ySfDVd ,flM ngh ds •êðs

Lokn vkSj xk<+siu ds fy, ftEesnkj
gksrk gSA

40. (a) Skeletal muscles are also
called striated muscles.
Skeletal muscles are a
type of striated muscle,
usually attached to bones
by nerves, and are under

voluntary control. / dadky dh
ekalisf'k;ksa dks jsf•r ekalisf'k;k¡ Hkh
dgk tkrk gSA dadkyh; ekalisf'k;ka
,d çdkj dh jsf•r ekalisf'k;ka gksrh
gSa] tks vkerkSj ij Luk;q }kjk gfîó;ksa
ls tqM+h gksrh gSa] rFkk LoSfPNd fu;a=k.k
esa gksrh gSaA

41. (b) The species of Plasmodium
that causes fatal malaria
is Plasmodium falciparum.
Plasmodium falciparum is
responsible for the most
severe form of malaria,
known as fatal malaria or
falciparum malaria. /

IykTeksfM;e dh çtkfr tks ?kkrd
eysfj;k dk dkj.k curh gS] og
IykTe k s fM;e iQ kYlhi s je g S A
IykTeksfM;e iQkYlhisje eysfj;k ds
lcls xaHkhj :i ds fy, ftEesnkj gS]
ftls ?kkrd eysfj;k ;k iQkYlhisje
eysfj;k ds :i esa tkuk tkrk gSA

42. (a) Microsoft Access is a pow-
erful database manage-
ment system (DBMS) that
combines the relational
Microsoft Jet database en-
gine with a graphical user
interface and software-de-

velopment tools. / ekbØkslkWÝV
,Dlsl ,d 'kfDr'kkyh MsVkcsl çcaèku
ç.kkyh (DBMS) gS tks fjys'kuy
ekbØkslkWÝV tsV MsVkcsl batu dks ,d
x zk fiQdy ;wtj b aVjiQ sl vk Sj
lkWÝVos;j&MsoyiesaV Vwy ds lkFk tksM+rh
gSA

43. (d) The Bhuiya dance form is
associated with the state of
Arunachal Pradesh. Most
Bhuiyas are agriculturists
and many believe they are
descendants of the Hindu
goddess Bhumi, who repre-

sents Mother Earth. / cqb;k

u`R; :i v#.kkpy çns'k jkT; ls
tqM+k gqvk gSA vf/dka'k Hkqb;ka Ñ"kd
gSa vkSj dbZ yksxksa dk ekuuk gS fd os
fganw nsoh Hkwfe ds oa'kt gSa] tks /jrh
ekrk dk çfrfuf/Ro djrh gSaA

44. (d) Under Article 192 of the
Indian Constitution, when
the case does not relate to
defection (Tenth Sched-
ule), the Governor decides
on the disqualification of a
member of the State Leg-

islative Assembly. / Hkkjrh;
lafo/ku ds vuqPNsn 192 ds rgr]
tc ekeyk ny&cny (nloha vuqlwph)
ls lacaf/r ugha gksrk gS] rks jkT;iky
jkT; fo/ku lHkk ds lnL; dh v;ksX;rk
ij fu.kZ; ysrk gSA

45. (c) Maharashtra has 11.8 mil-
lion slum population,
which is 18.1% of the total
slum population of the
country. It was followed by
Andhra Pradesh (10.2 mil-
lion), West Bengal (6.4 mil-
lion) and Uttar Pradesh (6.2

million). / egkjk"Vª es a 11-8
fefy;u >qXxh okyh vkcknh gS] tks
ns'k dh dqy >qXxh okyh vkcknh dk
18-1» gSA blds ckn vka/z çns'k (10-
2 fefy;u)] if'pe caxky (6-4
fefy;u) vkSj mÙkj çns'k (6-2
fefy;u) dk LFkku jgkA

46. (d)
47. (a)
48. (c)
49. (c)

50. (a)

C - QUANTITATIVE APTITUDE
51. (d) ATQ,

Water : Syrup
5 :  11
Mixture takenout
5

×3
  : 11

×3
  = 15 : 33

Now, Water is added then
2

×11
 : 3

×11 
 (Syrup is costant)

22 : 33
Now, Mixture is replaced =
22 – 15 = 7

= 
7

22 33
 = 

7

55
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52. (a) The relative speed of po-
liceman and thief (12 – 10)
= 2 km/h
So, The police catch the

thief = 
0.4

2
 = 0.2 hours

Now, the distance traveled
by the policeman = 12 × 0.2

= 2.4km

53. (c) Let, there be Q men ini-
tially with the efficency of
1 unit per day.
Total work = Q × 1 × 11 =
11Q unit.
ATQ,
Q + (Q – 16) + (Q – 16 × 2) +
.......+ (Q – 16 × 14) = 11Q
15Q – (16 + 32 +........224) =
11Q
4Q = 16 × 105
Q = 420

54. (d) x = 
1

x – 3

 x2 – 3 x = 1

 x – 
1

x
 = 3

Squaring both side

 x2 + 2

1

x
 – 2 = 9

  x2 + 2

1

x
 = 11

Adding both side 2

 x2 + 2

1

x
+ 2 = 13

 x + 
1

x
 = 13

55. (c) 12% of 625 = 75
15% of 555 = 83.25
10% of 720 = 72 (Least)

9% of 845 = 76.05

56. (d)
M.P

S.P
= 

×13

×13

50

41

C.P

S.P
 = 

×41

×41

10

13

New, S.P = 650 × 
88

100

 S.P = 572

Now, Profit

= 
572 – 410

410
×100

= 39.51%
57. (c) cosec 30o – cos60o

 2 – 
1

2
  =  

3

2

58. (d) 1755 ÷ 39 × (8 – 28 ÷ 4) –2
 45 × (8 – 7) – 2
 45 × 1 – 2  = 43

59. (a) Property of obtuse angled
triangle side (a, b, c)
c2 > a2 + b2

By options (15, 62, 64)

642 > (152 + 622)

4096 > 4069

 It is satasified.

60. (a) Short trick
p = q = r = 1


 

 

22

2 2

1 – 1 –1

1 1 –1
+ 

 
 

22

2 2

1 – 1 –1

1 1 –1
+

 
 

22

2 2

1 – 1 –1

1 1 –1

  
1 – 0

4 –1  +  
1 – 0

4 –1  +  
1 – 0

4 –1


1

3
 + 

1

3
 + 

1

3

 1

61. (c) ATQ,
3x × 2x = 150
6x2 = 150
x2 = 25
x = 5
Length = 3 × 5 = 15 cm
Breadth = 2 × 5  = 10 cm
Perimeter of rectangle = 2
(L + B)

 2(15 + 10) = 50 cm

62. (a) 2 + cos 49o cos41o – sin49o

sin41o

 2 + cos (90 – 41) cos41o –
sin (90 – 41) . sin41o

 2 + sin41o cos41o – cos41o

sin41o

 2

63. (a)

O

D
BA

ATQ,
 OA2 = OD2 + AD2  (By

pythagoras theorem)
 OA2 = (21)2 + (20)2

 OA2 = 441 + 400

 OA = 841

 OA = 29

64. (a)
P –– 10

Q –– 15

R –– 20

6

3

4
60 ( )Total work 

Total time required to com-

plete the work = 
60

13

  4
8

13
 days

65. (d) ATQ,
105% – 95% = 300

 10% = 300
 100% = 3000
 95% = 2850

66. (a) Concept used:
am * an  = am+n

Now,

4 2

2

4 – 5 4

15 4 – 2 4

a a

a a

 

 


 4 2

2

4 4 – 5 4 4

15 4 – 2 4

a a

a a

  

 


 
 

a 4 2

a 2

4 4 – 5 × 4

4 15 – 2

 4a ×
 

 a

256 – 80

4 11  =  16

67. (b) circumradius (R) = 
a

3
 ,

R = 
12

3
 = 4 3

68. (b) 22 – [9 – (6 – (10 – 4 + 3 ))] ÷
2 × 3
By BODMAS Rule:

 22 – [9 – {–3}] ÷ 2 × 3
 22 – [12] ÷ 2 × 3
 22 – 18  = 4
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69. (c)
1

2
[(a – b)2 + (b – c)2 + (c –

a)2] = a2 + b2 + c2 – ab – bc –
ca
a2 + b2 + c2 – ab – bc – ca =

1

2
[(101 – 102)2 + (102 –

103)2 + (103 – 101)2]
a2 + b2 + c2 – ab –  bc – ca

= 
1

2
 [12 + 1 + 22] = 3

70. (a) E
D K

H

7cm 9cm

KH2 = KD × KE
KH2 = 9 × 16

KH = 144
KH = 12 cm

71. (c)
72. (b) a, b and c are in proportion.

then,

c = 
2b

a

c =  263

7
 = 567

73. (a) ATQ,
C.P × 28 = S.P × 24

C.P

S.P
 = 

6

7

Profit Percentage

= 
 7– 6

7
 × 100  =  16

3

2
%

74. (b) (4)11 × (5)5 × (3)2 × (13)2

 (22)11 × (5)5 × (3)2 × (13)2

 (2)22 × (5)5 × (3)2 × (13)2

Total prime factors:
 22 + 5 + 2 + 2  = 31

75. (a) r
1

: r
2

2 : 3
2 : 3
2 : 1
____________
8 :  9
Percentage increase

= 
1

8
× 100 = 12.5%

D-ENGLISH COMPREHENSION

76. (b) Mosquitose

The correct spelling is

Mosquitoes (ePNj)-
Other correct spellings:

Professor (çksiQslj) means a

teacher of the highest rank
in a college or university.

Systematically (O;ofLFkr :i
ls) means done according to

a fixed plan or system.

Prophet (Hkfo";oDrk) means

a person regarded as an
inspired teacher or
proclaimer of the will of God.

77. (d) Amicably (feyulkj rjhds ls)
means in a friendly and
peaceful manner.

Apparently (tkfgj rkSj ij)
means as far as one knows
or can see.

Assuredly (fuf'pr :i ls)
means certainly or without
a  doubt.

Absurdly (csrqds <ax ls) means

ridiculously or illogically.

78. (b) Despite (blds ckotwn) means

in spite of something, which
fits here to show a contrast
between being an officer and
living in a tiny apartment.

Except (flok;)  means

excluding, which does not fit
the context.

Instead (blds ctk;) means

as an alternative, which is
not appropriate here.

Unlike (vykok)  means

different from, which does
not convey the intended
meaning.

79. (c) Pompous means excessively

grand or self-important, often

in a way that is perceived as

arrogant. Similalry,

supercilious refers to

someone showing arrogance

or a sense of superiority.

Conciliatory (lqyg dju s
okyk) means intended to

make peace or reconcile.

Benign (fe= kor)  means

gentle or kind

Diplomatic (d wVu h frd)
refers to being tactful and

considerate.

80. (b)  The correct order is DABC

because:

D sets the subject (“Luck
keeps on”).

A provides more detail about
the current action (“Lying in
bed waiting”).

B introduces the action (“For
the postman to bring”).

C finishes the sentence by
specifying what is to be
brought (“Him news of a
legacy”).

81. (c) The idiom “buy the farm”

means to Stop living (ej
tkuk), unexpected or untimely

death.

82. (d) Correct spellings are:

lagoon (ySxwu & ,d >hy ;k
•kM+h)]  dive , (Mqcdh yxkuk)
embrace (vkfyaxu)  and

peaceful ('kkafriw.kZ)

83. (d) Concern (fpark) refers to

something that causes
worry or anxiety, fits here
as the pollution affecting
the local residents.

Area ({ks=k) refers to a place

or region

Idea (fopkj) refers to a

thought or concept

84. (b) Vagrant  (HkVdrs gq,) refers

to someone who moves
around without a fixed
home or job, often living on
the streets. While, Settled

(fLFkj) someone who has a

stable, fixed living
situation.
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Vagabond (?kwerk gqvk) is

another word for someone
who is wandering or without
a permanent home.

Nomad (?kqearw) refers to a

person who moves from
place to place

85. (c) Festivals are celebrated
everywhere to rejuvenate
the minds of people.

“Festivals” is a general

term, so the article “The”

is not needed before it.

“The minds of people” is

correct because we are

referring to specific minds in

the context of rejuvenation.

86. (a) Soliloquy refers to a speech
in a play where a character
speaks to themselves or
expresses thoughts aloud,
often to the audience,
without addressing other
characters.

Scream (fpYykuk) means a

loud cry or shout.

Eloquence (okDiV q r k)
means fluent or persuasive

speaking or writing.

Dogmatic (dêðj) means

being rigid in opinions.

87. (c) Imperative sentence: Verb

(V1) Lift  + Object the veil!

Passive Voice Structure

(for imperative sentences):

Let + Object (the veil) + be

+ Past Participle (V3)

(lifted).

88. (c) It should be: “She is wise
enough”. The adverb
“enough” needs to be placed
after the adjective “wise”

89. (c) At sixes and sevens

(vO;oLFkk esa) refers to a state

of confusion or disorder,
where things are chaotic or
not organized.

90. (d) Prepositions generally take

object pronouns (like “me”)

rather than subject

pronouns (like “I”).

91. (c) Go through (tk ¡p djuk]
i<+uk) means to examine or

study something carefully,
fits here for looking at
books prescribed in the
syllabus.

Read abreast (lkFk&lkFk
i<+uk)

Read about (ds ckjs esa i<+uk)
means to read information
regarding a subject

Go about ('kq: djuk] djuk)
refers to starting or
engaging in an activity.

92. (d) Grave (x a H k h j)  means

serious or solemn, while

humorous (gkL;i w . k Z )  ,

means light-hearted or

funny.

Belittle (de vkaduk) means

to make someone or
something seem less
important.

93. (d) Passive Voice Structure:

Object + am/is/are + being
+ Past Participle (V3) + by
+ Subject

By whom + is + a smart

advisor + being looked for?

94. (c) Façade (eq[; ços'k) refers to

the front of a building or

structure, typically featuring

an ornate or imposing

appearance. Similarly,

Frontage means the part of

a building that faces the

street.

Elevation (Å¡pkbZ) refers to

the height or an architectural

drawing of a building

Interior (van:uh) refers to

the inside part of something

Ceiling (Nr) refers to the

upper interior surface of a

room.

95. (b) The correct order is d,a,c,b.

D (“Dr. APJ Abdul Kalam,
former President of India”)
introduces the speaker.

A (“is credited with saying”)
comes after D, indicating
that Dr. APJ Abdul Kalam is
the one who made the
statement.”

C (“If you want to leave your
footprint on the sands of
time,”) begins the quote.

B (“do not dry your feet”)
completes the quote.

96. (d)

97. (a)

98. (b)

99. (d)

100.(a)

ANSWER KEY

1. (c)

2. (d)

3. (a)

4. (b)

5. (a)

6. (a)

7. (d)

8. (b)

9. (c)

10. (a)

11. (c)

12. (b)

13. (b)

14. (b)

15. (b)

16. (a)

17. (b)

18. (c)

19. (b)

20. (b)

21. (c)

22. (c)

23. (c)

24. (d)

25. (a)

26. (b)

27. (d)

28. (c)

29. (a)

30. (b)

31. (d)

32. (c)

33. (b)

34. (a)

35. (b)

36. (b)

37. (a)

38. (d)

39. (c)

40. (a)

41. (b)

42. (a)

43. (d)

44. (d)

45. (c)

46. (d)

47. (a)

48. (c)

49. (c)

50. (a)

51. (d)

52. (a)

53. (c)

54. (d)

55. (c)

56. (d)

57. (c)

58. (d)

59. (a)

60. (a)

61. (c)

62. (a)

63. (a)

64. (a)

65. (d)

66. (a)

67. (b)

68. (b)

69. (c)

70. (a)

71. (c)

72. (b)

73. (a)

74. (b)

75. (a)

76. (b)

77. (d)

78. (b)

79. (c)

80. (b)

81. (c)

82. (d)

83. (d)

84. (b)

85. (c)

86. (a)

87. (c)

88. (c)

89. (c)

90. (d)

91. (c)

92. (d)

93. (d)

94. (c)

95. (b)

96. (d)

97. (a)

98. (b)

99. (d)

100.(a)


